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1.1
Samplel.f9b ( T B )
T B
1.2
) 1 3
1.3
T B
1.4
166 160
500
4 344
00 4194
1300
Df=2.000 \
\| S
PRIE T
[HAZ : mm]
6 300

FORUM8



1.5

1.6

8000

4 500

3400

600

3400

6300

[HAZ : mm]

o ck
o ck
SD345
35.00 ( )
(kN/m*)
24.500
9.800
19.000 19.800
19.000 19.800
Kh 0.12
( Kh 0.12
( Kh 0.12

24 (N/mm?)
24 (N/mm?)

FORUM8



1.7
@
My
(B
[N
[T
1\
I \\
I \
I \
[ \
1 \
B \
| I \
[ \
[ \
L \
[ \
S N Y
r |
. -
(m) 0.000
Hr (m) 0.000
1.8
[1]
'll VVVVVVVVVVVVVVVVY VVVVVVVVVVVVVVVVVVVVVVVVVVVVVVYVVVVVVY
|
| Ik\
[N
[BTY
(B
Iy \\
[ \
I \
[ \
[ \
[ \
1 \
I \\
[ \
[ \
I \
[ \
S N Y
r |
-
(kN/m?)
(m) (m)
1 0.000 00 10.000 0.000 |o o
1.9
1.10
()
0.000 23.333
(
0.000 ( )

FORUM8



1.11

1.11.1

1.11.2

1.12

1.12.1

-1.146 ( )
(kN/m?)
0.000 0.000
CB  (kN/m) 0.000
tang . 0.600
c (kN/m*) 0.000
(0} ) 35.00
(a B)
A -0.333
Y -0.333
3] -0.333
m (kN/m?)
D¢ D" Y Y 2
2.000 2.000 21.0000 21.0000
2.000 2.000 21.0000 21.0000
Dr (m)
D"
Y1 (kN/m*)
Y (kN/m*)
€s B
(m)
1/6 1.500 3.000
1/3 1.200 2.000

(m

FORUM8



1.12.2
o

D

2)

B (m)
€5 (m) e M V
Ms (kN.m)
% (kN)
(N/mm?)
O O s T a T «
1.00 8.000 180.000 0.390 | 1.700
1.50 12.000 300.000 0.585 | 2.550
(N/mm?)
0« (o T a T =
1.00 8.000 180.000 0.390 | 1.700
1.50 12.000 300.000 0.585 | 2.550
T al
T 2

FORUM8



2
2.1
€H)
1)
2
1 12
f———\
4 | 5
2)
™ Vi Xi Vi Yi
S i Xi i Yi
x x vi(m) Xi Yi
1 1/2x 0.166x 8.300x 8.000 5.511 1.411 3.467 7.775 19.106
2 0.334x 8.300x  8.000 22.178 1.633 4.850 36.216 107.561
3 1/2x 0.166x 8.300x 8.000 5.511 1.855 6.233 10.225 34.353
4 1.800x 0.700x 8.000 10.080 0.900 0.350 9.072 3.528
5 4.500x 0.700x 8.000 25.200 4.050 0.350 102.060 8.820
6 1/2x 0.006x 0.300x 8.000 0.007 1.804 0.800 0.013 0.006
7 1/2x 0.300x 0.300x 8.000 0.360 1.906 0.800 0.686 0.288
8 1/2x 0.300x 0.300x 1.200 0.054 2.006 0.900 0.108 0.049
9 4.027x 0.300x 1.200 1.450 4.119 0.850 5.972 1.232
10 1/2x 0.167x 0.300x 1.200 0.030 6.189 0.800 0.186 0.024
11 1/2x 0.150x 7.500x 1.200 0.675 1.906 3.500 1.287 2.363
12 1/2x 4.177x 7.500x 1.200 18.796 3.348 3.500 62.935 65.786
b3 89.852 236.535 | 243.116
XG > Vi Xi Vi 236.535 89.852 2.632 (m)
YG > Vi Yi > Vi 243.116 89.852 2.706 (m)
@
1)

;N

S]]

FORUM8



2)
(m o o
% % Vi () % Vi Vi Xi Vi Yi
1| 1/2x 0.300x 0.300x 6.800 0.306 2.006 0.900 0.614 0.275
2 4.194x 0.300x 6.800 8.556 4.203 0.850 35.960 7.272
3| 1/2x 0.160x 8.000x 6.800 4.352 1.913 3.667 8.324 15.957
4 4.334x 8.000x 6.800 235.770 4.133 5.000 | 974.436 | 1178.848
5| 1/2x 4.344x 7.800x 1.200 20.330 4.852 5.900 98.641 | 119.947
6| 1/2x 0.010x 0.500x 1.200 0.003 1.963 8.667 0.006 0.026
7 4.334x 0.500x 1.200 2.600 4.133 8.750 10.747 22.754
2z 271.917 1128.728 | 1345.079
XG > Vi Xi Vi 1128.728 271.917 4.151 (m)
YG z Vi Vi Vi 1345.079 271.917 4.947 (m)
2.2
€))
[1]
W Y v X
(kN) (m
24500 x  89.852 2201.377 2.632
H W kh Y
(kN) (m
2201.377 x 0.12 264.165 2.706
@
[1]
1)
(m (m
vm) X % vI(@m) X1 v
( ) 271.917 4.151 4.947 0.000 0.000 0.000
(m
Vu(m) Xu Yu
( ) 271.917 4.151 4.947
Vu vV Vi
Xu v X VI XDI) Wu
Yu v Y VI YD W

FORUM8



Wu Vu wi VI
(kN) (kN)
( ) | 271.917 x 19.000 5166.417 0.000 x 19.800 0.000
W X H y
Wu — WE [ Wu Xu WwE XD)/W W kh m
(kN) (m (kN)
( ) | 5166.417 4.151 5166.417 x 0.12 619.970 4.947
®
[1]
(m (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni o Xi Hi  Yi
2201.377 264.165 2.632 2.706 5795.105 714.760
5166.417 619.970 4.151 4.947 | 21445.824 3066.780
7367.794 884.135 27240.930 3781.540
2.3
[1]
Xp 6.300 m
yp 0.000 m
H 9.000 m
a 0.000 °
ys 19.000 kN/m?
® 35.00 °
B 0.000 °
0 B 0.000 °
Wi 10.00 ° 80.00 °
(w) Q) *)
hw 0.000 m
W(KN)
W) P (kN)
62.00 | 409.150 0.000 0.000 | 409.150 208.472
63.00 | 392.080 0.000 0.000 | 392.080 208.473
64.00 | 375.310 0.000 0.000 | 375.310 208.038
w 63.00° P 208.473 kN

FORUM8



Wesin(w—0¢)

cos(w—¢p—a—0)
392. 080 X sin(63. 00° —35.00° )

cos (63.00° —35.00° —0.000° —0.000° )
208.473 kN

Ph P cos(a &) 208.473% cos( 0.000° 0.000° )
Pv P sin(a &) 208.473% sin( 0.000° 0.000° )

H 9. 000
Ho = — = = 3.000 m
3 3

X Xp Ho tana 6.300 3.000x tan0.000° 6.300 m
y yp Ho 0.000 3.000 3.000 m

8.000 m

Pha Ph x 8.000 208.473 x 8.000 1667.784 kN

Phv Pv x 8.000 0.000 x 8.000 0.000 kN

208.473 kN

0.000 kN

FORUM8
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2.4
€Y
[1]
——
| Ik\
[N
[
[N
[
N
[ \\
[ \
[ \
N \
P \
8 A —
i \
N N\
I R
]
(kN.m)
N (kN) Hi (kN) X (m) Yom | Me N X | My HoY
7367.794 |  884.135 3.607 4.277 27240.930 3781.540
0.000 | 1667.784 6.300 3.000 0.000 5003.352
7367.794 |  2551.919 27240.930 8784.892
N, H, M,
(KN) (KN (kN-m)
7367.794 | 2551.919 |  18456.039
@
c (kN)
c (kN)
M No B 2.0 M, (kN.m)
B, 6.300 @
m  (8.000m)
e H. M.
(kN) (kN) (kN.m)
7367.794 | 2551.919 4752.513

FORUM8
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2.5
2.5.1
d EMr— XMt
2V
d (m)
> Mr (kN.m)
> Mt (kN.m)
>V kN)
B
e = ——d
2
e (m)
B (m), B 6.300
€. n
€. (m)
n
2 Mr 2 Mt >V d e €.
(kN.m) (kN.m) (kN) (m) (m) (m)
27240.930 8784.892 7367.794 2.505 0.645 2.100
2.5.2
po ZVoutGeA
’ SH
zV (kN)
2 H (kN)
M , 4 0.600
Cs (kN/m?), Ce 0.000
A m), A B L
(m), B 6.300
(m, L 8.000
= V(KN) % H(kN) F Fe
7367.794 2551.919 1.732 1.200
2.5.3
@
(m) (kN/m’)
D D", Vo Y g=y D¢ (kN/m%)
2.000 2.000 21.000 21.000 42.000

FORUM8
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QW= a * K c-NC-SCJr;c-q-Nq-Sq—%%-yl-B-BE-N«,-Sv
Qs (kN/m?)
c (kN/m?) ¢ 0.000
q (kN/m?) g Y 2Dt
Yi ¥V (kN/m)
B. (m B. B 2
B (m B  6.300
€s (m)
D¢ (m)
a B a 1 0.38B. L B 1 0.4B. L
Be L 1 ,Be L 1
L (m L  8.000
K K 1 0.30% B
D", (m
Ne Ny N,
(0} tan@
(0 () o 35.00
Se S¢S Se 1.000
S (€)' S @) S (8)"
AV oy
A -0.333 v -0.333 -0.333
¢ c C G 1 c 10
co 10 (kN/m?)
9 9 g 9 1 q 10
o 10 (kN/m*)
B B B Bo 1 B
B, 1.0 (m)
tan@ Hb \
Ho Vv (kN) (kN) N N, N, B. (1)
0.346 2551.919 7367.794 | 20.830 | 14.652 | 8.036 5.010
0a Ga N
Hb (kN)
v (kN)
Ca
n
K ~ O & .
a B S, S, (kN/m?) (KN/n)
1.188 | 0.750 [ 1.120 | 0.620 | 0.585 612.684 306.342

@

FORUM8
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D

2)

[1]

qi

1/3
2V 6e
—_— 1+_
BL B
BV (e
BL B
2/3
22V
3« (B/2—e) L
2V (kN)
B (m), B 6.300
(m)
L (m L 8.000
(KN/m*)
(m) -
X B gmin gmax
6.300 56.381 235.992 306.342

FORUM8
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3
1
3.1
[1]
Xp 1.800 m
yp 0.700 m
H 8.300 m
a -1.146 °
ys 19.000 kN/m?®
® 35.000 °
e} 2 3¢ 23.333 °
Wi 10.00 ° 80.00 °
(w) Q) )
hw 0.000 m
WCkN)
w(C) P (kN)
58.00 | 395.857 0.000 50.204 | 446.061 174.307
59.00 | 380.145 0.000 48.211 | 428.356 174.315
60.00 | 364.758 0.000 46.260 | 411.018 173.913
w 59.00° P 174.315 kN
Wesin(o—9¢)
P e
cos(w—¢—a—235)
428. 356 X sin(59.00° —35.00° )
cos(59.00° —35.00° —-1.146° —23.333° )
174315 kN
Ph P cos(a d&) 174 _.315x cos(-1.146°  23.333° ) 161.408 kN
Pv P sin(a &) 174_315% sin(-1.146° 23.333° ) 65.828 kN
H 8. 300
Ho = — = = 2.767 m
3
X Ho tana xp 2.767x tan-1.146° 1.800 -0.305 m
y yp Ho 0.700 2.767 2.767 m

FORUM8



- 15 -

2P 2X174. 315
Ka = - = ~ = 0.26635
v I 19. 000 X 8. 300°
KaH Ka cos(a &) 0.24663
P1 0.0(kN/m?)
P2 KaH y H 0.24663x 19.000x 8.300 38.893(kN/m*)
RN
'D:' 1 161. 4
Il_l
I Ik\
[EAN
[N
N
| : N\
1] \
[ \
I \
1 \
N N\
1 N\
1 \
[ \
1 \
1 \
| \
\
AL — Jl L \ﬁ\
R = oy = =
i \ I p1*® p2*
(m) (m) (KN/m?) (KN/m?)
1 0.000 7.800 2.343 38.893

P, = 160.822 (kN)

FORUM8
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3.2
[1]

| e

L

[2]

FORUM8

20.618
19.785

(KN/m)

VELPE ) e

(kN)

1
160.822
142.722

(KN/m?)
0.000
11.601

(M), h = 7.800
(kN)

(kN)

L
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3.3
Px
rr ARRRRRRRRR TR
M = —+
K
| | | |
S = —
| 1 |
| |
M (kN.m)
NN
S (kN) M A \l/
Px : (kN/m?)
I (), 1=3.850
K
x 0.100 T K=12 /‘ ] ’
: K=10 N F I/
€Y 0.000
Px
(KN/n) MCKN.m) S(kN) MCKN.m) S(kN)
20.618 25.468 0.000 -25.468 39.690
19.785 24.439 0.000 -24.439 38.086
3.4
3.4.1 [1]
0.000 m
@
1
Al
. g
[ : mm)

FORUM8
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(cm) /) (cm)
1 10.0 D13 1.267 4.00 5.068
2 —_— J—
1| — —
| — | —
3.729 (cm’)
2)
2 .
X'+ . {As . (X—d)} =0.0
X 0xERD5,
M
o c p—y
b-x h «x (x—d) + (h,/2—d)
——=|+n-As-
( 2 3 ) X
d—x
Os — I O.*
X
X (mm)
h (mm) h 500.000
b (mm) b 1000.000
d (mm)
As (mm*)
n n 15.00
e (mm)
ccC (N/mm?)
os (N/mm?)
M (N.mm)
" N X (N/mm?) (N/mm?)
(kN.m) (kN) (cm)
25.468 0.000 7.074 1.912 8.000 133.507 180.000

FORUM8
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@
1)
Al
1 =
He ﬁ
(cm) (cm’/ ) (cm®)
10.0 D13 1.267 4.00 5.068
3.729 (cm’)
2)
2 .
x+ . {As . (X—d)} =0.0
X 0xERDD,
M
O .
b x h x (x—d) + (h,/2—d)
c|———]+n-As-
2 (2 3) X
d—x
O s n O."*
X
X (mm)
h (mm) h 500.000
b (mm) b 1000.000
d (mm)
As (mm?)
n n 15.00
e
ocC (N/mm?*)
oS (N/mm?)
M (N.mm)

(B : mm]

(mm)

FORUM8
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" N x (N/mm?) (N/mm?)
(kN.m) (kN) (cm)
-25.468 0.000 7.074 1.912 8.000 [ 133.507 180.000
©)
S
Ta — = T
b-d
Ta (N/mm?)
Sh N)
d (mm)
b (mm)
(N/mm?)
Su(kN) d(cm) T T T
39.690 40.000 0.099 0.390 1.700
3.5
H
As =
0 Ssa
H=p (L-0Db)
As :
H kN)
p (kN/m?)
L (m)
b (m)
() 1: 0.000
p L d H As (cm)
(kN/m) m m (kN) (N/mm?) (cm®)
20.618 | 4.000 | 0.600 70.102 180.000 3.895 10.136
19.785  4.000 | 0.600 67.269 300.000 2.242 10.136

FORUM8
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[1]

4.1

0.000 m

:mm]

[HLNZ

\

———————— e

;
1
I

|

4.1.1
€Y)
D

i —
- (e)] (@))
> n n
o o
>
o
0
[{e]
R
< £ o
o/
o o
S| &
- )
> = o o
o/
o
o
o
—
X
o
o
X ~
o
X
o
o
X (90}
—
—
N

2)

0.591 0.910  0.650 (m)

Vi

XG

FORUM8
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4.1.2
€Y
[1]

4.1.3

[1]

1€0 "9L1

Wy v X
(kN) m
24.500 x  0.910 22.295 0.650
1
N = E(q1+q2) - L
2°+ql+q2
X — # .
3+ (ql+q2)
gl
g2
L L 1.300 (m)
KN/
" 2 N (kN) X (m)
176.031 166.553 -222.680 0.656

FORUM8
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N X
(kN.m)

M

-14.492

146.077

131.585

i)

[B{Z : mm]

Ol

]

(cm)

15.484

4.00

13.417 (cm)

FORUM8

0.650
0.656
)

(m

3.871

(cm’/

D22

-22.295
222.680
200.385

(KN)

4.1.4

[1]

4.1.5

€))

(cm)

11.0

1"

on
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@
2 .
X+ bn {As . (X—d)}ZO.O
L Vx%RDD,
M
0 c —_—
b« x h  x (x—d) + (h/2—d)
———|+n-As-
2 (2 3 ) X
d—x
0O, =n*o0.°
X
X (mm)
h (mm) h 700.000
b (mm) b 1000.000
d (mm)
As (mm*)
n n 15.00
e (mm)
ocC (N/mm?)
os (N/mm?)
M (N.mm)
" x (N/mm?) (N/mm?)
(KN.m) (cm)
131.585 14.390 3.372 8.000 156.804 180.000
4.2 [2]
0.350 m
r
| Ik\
N
IR
N
AN
I \
[ \
I \
[ \
I
I AN
[N \
[ \
[ \
2 : : \\
[ \\
e .
e
[HAAZ : mm]

FORUM8
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4.2.1

@
D

2)

4.2.2
€Y
[1]

4.2.3

r
| |k\
(IR
[N
PN
[ N\
(] \
[ \
[ \
[ \
HE
I AN
I \
[ \
I \
I \
| \
I \
___________ 1'
Vi Xi Vi Xi
* * (W) (m
1 0.950x 0.700x 1.000 0.665 0.475 0.316
2 0.665| —— 0.316
XG > Vi Xi > Vi 0.316 0.665 0.475 (m)
Wy v X
(kN) (m
24.500 x  0.665 16.292 0.475
1
N = E(q1+q2) - L
2+ ql+q2 L
3+ (ql+q2)
gl
g2
L L 0.950 (m)

FORUM8



- 26 -

X (m)
0.478

N (kN)
-163.940

g2
169.105

(KN/m)

ql
176.031

3. 150

[1]

2% it (=t |
-7 _MHHHu
-7 b ====d
rad _ _MHHHJ
e —— e —
-7 I ====5,
- | S-=-==c
- | 2===5
Pl b =====—
PR | | =====1
=----
g I ====z=1
e __ | ===—=—A
- b=
130. 101 e L MRS — “ =--c-c-g
== L sS---=4 ,
=3 T 4 l=====-
===3 —
=== |
===32 I——
===3
===3
e
176. 031
<
v
N
.
<t

FORUM8

(N/mm?*)

(N/mm?)

N X

(KN.m)
-7.739
78.392
70.653

M

(m
0.475
0.478
)
(mm)
(mm)

(kN)
-16.292

al

163.940
147.647
Sh

€))

4.2.5
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(N/mm?)
Sn(kN) d(mm) T T
147.647 590.000 0.250 0.390

FORUM8
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5
1
5.1
[1]
r
i
[ITAN
[T
I
11 \\
I \
[ \
1 \
[ \
1 \
a \
I \
[ ] \
I \
[ \
1 \
1 \\
___1 NogTroarmony e w
S D
1
P; = Yo (hfi+hri)/2 * B; (kN)
hf; hr; B p
(m m (m) (kN)
0.700 1.000 0.006 0.125
1.000 0.700 0.300 6.247
0.700 0.700 4.194 71.927
> Pi 78.300
P; i (kN)
Y (KN/m*), y = 24.50
hf;,hr; i (m)
B; i (m)
B (m), B = 4.500
5.2
[1]
r
i
AN
RS
I
IR
I \
[ \
1] \
[ \
1 \
I
1
I
I
1 \
I
| \
I
r__J y\ N b T O k0 1)
S A |

FORUM8
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Pi = v.° (hfi+hri)/2 * B (kN)

hf; hr; Xi i Pui
(m (m (m (m (kN)
0.000 8.160 0.006 0.160 12.403
8.160 8.300 0.166 0.140 21.892
8.300 8.300 0.306 4.194 661.394
s Pu 695.689
Pi 1 (kN)
Yt (kN/m*), y « = 19.00
h (m
hf;,hr; i (m)
Xi (m
B (m), B = 4.500
5.3
[1]
5.4
1
N = E (ql4+q2) L
q
L
X
[1]
VAV
PN
AN
RN
N
AN
1 \
[ \
1 \
1 \
N
11 AN
| \
I
] \
X \
| \
. N \.1
S |
gl q22 L N X
(KN/m%) (KN/m*) (m (kN) m
1 10.000 10.000 4.334 43.340 2.333

FORUM8
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rT
.r
(IR
N
N
| : N\
I \
[ \
[ \
[ \
N N\
I AN
|1 \
1 \
I \
[ \
I \
X \
___J mewmnw:w‘)("'&ﬁ"fﬁ"f i
T
1
i X b ql- q2°
(m (m (KN/m%) (KN/m%)
1 0.166 4.334 10.000 10.000

P, = 43.340 (kN)

5.5
1
N = E(ql-l—qZ) - L
2--ql+q2 L
3+ (gl+q2)
gl
g2
L
[1]

10T "0€T

L 4.500 (m)

(KN/m)
0 02 N (kN) X (m)
130.101 162.908 659.271 2.166

FORUM8
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[2]

X bi gql- 92"
m m (kN/m*) (kN/m*)
0.000 4.500 162.908 130.101
P; = 659.271 (kN)
(kN/m?*)
ql P2 N (kN) X (m)
56.381 184.675 542.375 1.851
X b ql- gq2°
m m (kN/m*) (kN/m*)
0.000 4.500 184.675 56.381

P, = 542.375 (kN)

FORUM8
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5.6

[1]

w

(

p

1

S W S ———
-

bwh # e OKNAz L0 k)

\
\
\|
\
S ﬁaJIIﬂUIIIEuqrwn

t———- TERATTRNTRT TR e 5 )

)
(kN/m")

XPi
B

(kN/m?)

(kN)
(m), B = 4.500

(KN) ((kN)) (KN) (kN)

C )
KN/

78.300 | 695.689 43.340 | -659.271

35.124

FORUM8
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5.7
Px
S ARRRRRRRRE TR
M=+
K
Pl | | | |
5= A A
| . |
[
Mo (kN.m)
' A_E AN
S : (kN) N A~_]_~ B
Px : (kN/m?)
I (m), 1=3.850
‘ 8
x 0.100 K=12
6D 1: 0.306
PrCRN/Y 1y en.m) SCKN) MCKN.m) SCKN)
35.124 43.385 0.000 |  -43.385 67.614
51.470 63.576 0.000 | -63.576 99.079
5.8
5.8.1 [11
@
1
&
! g
= [BZ : mm]
T
(cm) cn/ ) (cm)
| — | —
»| — | —
1| 100 | p22| 3.871| 4.00| 15.484
2 [ R—

FORUM8
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4.207 (cm®)
2)
D .
X+ bn {As . (x—d)}ZO.O
K 0xERDD,
M
0 ¢ p—
b« x h x (x—d) + (h/2—d)
c|———]+n-+As-
2 (2 3) X
d—x
o — ne* o.°*
X
X (mm)
h (mm) h  700.000
b (mm) b 1000.000
d (mm)
As (mm?)
n n 15.00
e (mm)
ocC (N/mm?)
oS (N/mm?)
M (N.mm)
" x (N/mm?) (N/mm?)
(kN.m) (cm)
43.385 14.535 1.083 8.000 50.799 180.000
63.576 14.535 1.587 12.000 74.439 300.000
@
1
+ m
. g
[ : mm]
T @

FORUM8
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(cm) /) (cm)
1 10.0 D22 3.871 4.00 15.484
2 —_— J—
1| — —
| — | —
4.207 (cm®)
2)
2 .
X'+ . {As . (X—d)}ZO.O
X 0xERD5,
M
O c p—y
b-x h «x (x—d) + (h,/2—d)
«[=—=]+n-As
( 2 3 ) X
d—x
Os — I O.*
X
X (mm)
h (mm) h 700.000
b (mm) b 1000.000
d (mm)
As (mm*)
n n 15.00
e (mm)
ccC (N/mm?)
os (N/mm?)
M (N.mm)
" X (N/mm?) (N/mm?)
(kN.m) (cm)
-43.385 14.535 1.083 8.000 50.799 180.000
-63.576 14.535 1.587 12.000 74.439 300.000

FORUM8
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3)
S
Tw = — =t
b-d
T, (N/mm?)
Sh (N)
(mm)
b (mm)
T a
(N/mm?)
Si(kN) d(mm) T -
67.614 600.000 0.113 0.390
99.079 600.000 0.165 0.585

(N/mm?)

FORUM8
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6
6.1 [1]
0.000 m
6.1.1
@
2
10
___lgﬁczzzzzzzzzzy
e
@
(m
% % Vi) g vi Vi Xi Vi Vi
1| 1/2x 0.166x 8.300x 8.000 5.512 | 0.111| 2.767 0.612 15.252
2 0.334x 8.300x 8.000 22.176 | 0.333 | 4.150 7.385 92.030
3| 1/2x 0.166x 8.300x 8.000 5.512 | 0.555| 5.533 3.059 30.498
41 1/2x 0.006x 0.300x 8.000 0.008 | 0.504 | 0.100 0.004 0.001
5| 1/2x 0.300x 0.300x 8.000 0.360 | 0.606 | 0.100 0.218 0.036
6| 1/2x 0.300x 0.300x 1.200 0.054 | 0.706 | 0.200 0.038 0.011
7 4.027x 0.300x 1.200 1.450 | 2.820 | 0.150 4.088 0.217
8| 1/2x 0.167x 0.300x 1.200 0.030 | 4.889 | 0.100 0.147 0.003
9| 1/2x 0.150x 7.500x 1.200 0.676 | 0.606 | 2.800 0.409 1.892
10| 1/2x 4.177x 7.500x 1.200 18.797 | 2.048 | 2.800 38.496 52.631
2z 54.574 | —— —_— 54.456 | 192.571
XG > Vi Xi > Vi 54 .456 54.574 0.998 (m)
YG > Vi Yi 2 Vi 192.571 54.574 3.529 (m)
6.1.2
@
[1]
W y \%
kN) X (m)
( ) 24.500 x 54.574 1337.063 -0.748

FORUM8
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6.1.3
[1]
Xp 1.800 m
yp 0.700 m
H 8.300 m
a -1.146 °
y s 19.000 kN/m?®
® 35.000 °
e} 2 30 23.333 °
Wi 10.00 °
(w) ) )
hw 0.000 m
W(kN)

W) P (kN)
58.00 | 395.857 0.000 50.204 | 446.061 174.307
59.00 | 380.145 0.000 48.211 | 428.356 174.315
60.00 | 364.758 0.000 46.260 [ 411.018 173.913
w 59.00° P 174.315 kN

Wesin(w—¢)
P e

cos(w—¢p—a—20)
428. 356 X sin(59. 00° —35.00° )

cos(59.00° —35.00° —-1.146° —23.333° )
174315 kN

80.00 °

Ph P cos(a &) 174_.315% cos(-1.146°  23.333° ) 161.408 kN

Pv P sin(a &)  174.315x sin(-1.146° 23.333° ) 65.828 kN

X Ho tana xp 2.767%x tan-1.146° 1.800 -0.305 m

y yp Ho 0.700 2.767 2.767 m

FORUM8
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8.000 m
Pha Ph x 8.000 161.408 x 8.000 1291.262 kN
Phv Pv x 8.000 65.828 x 8.000 526.621 kN
RN
6.1.4
@
[1]
Il_'l
||‘\\
[N
[N
N
AN
[ \
[ \
[ \
(B \
| \
| \
S
[ ] \\
I \
1 \
X \
L L Y
| |
S |
Ni Hi Xi Yi M Ma+Myi
(kN) (kN) (m) (m) (kN.m)
1337.063 0.000 -0.748 0.000 0.000
526.624 1291.264 -0.305 2.767 3572.927
0.000 1291.264 3572.927
Xi Yi
T
@
1
> 4.000(m)

FORUM8
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N Hi M;
(kN) (kN) (kN.m)
0.000 645.632 1786.464
2)
: 2.000(m)
Ni Hi M;
(kN) (kN) (kN-m)
0.000 322.816 893.232
6.1.5
@
1
‘ 3 150 |
ﬁ_ﬁ ﬁ
- iE
. O
1 — — [Bf7 : mm]
600
W
(cm) (cm’/ ) (cm?)
| — | —
| — | —
1 8.0 D22 3.382 8.00 27.055
2 —_— J—
21.989 (cm)
2)
" N X (N/mm?) (N/mm?)
(kN.m) (kN) (cm)
1786.464 0.000 33.205 0.758 8.000 [ 146.635 180.000

FORUM8
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3)
S
t.= — = 1,
b-d
T, (N/mm?)
Sh N)
d (mm)
b (mm)
(N/mm?)
Si(kN) d(cm) . - -
645.632 461.388 0.233 0.390 1.700
@
1
1575
U
- f%‘J
U\{lr
1 =) —+ [EA7 : mm]
RuN
M
(cm) (cm’/ ) (cm?)
| — | —
| — | —
1 8.0 D22 3.382 4.00 13.528
2 —_— J—
10.995 (cm?)
2)
" N X (N/mm?) (N/mm*)
(kN.m) (kN) (cm)
893.232 0.000 33.205 0.758 8.000 [ 146.635 180.000

FORUM8
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3)

T, (N/mm?)
Sh N)
d (mm)
b (mm)
(N/mm?)
Si(kN) d(cm) . - -
322.816 461.388 0.233 0.390 1.700

FORUM8
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